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(a) Let the demand function 3Y = 100 — P and cost
function C(y) = 2y. Contrast the profit maximizing
monopolist, an output maximizing monopolist, and
revenue maximizing monopolist. Which is the best
description of the public sector? (7)

(b) Explain the decentralization theorem in context of
?zvelfare gains from multiple fiscal units. How do
individuals vote by their feet? (8)
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(a) i‘In a competitive economy with complete
information and zero transaction costs the
tallocation of resources will be efficient, and
invariant with respect to legal rules of entitlement.”
Explain this statement given by Coase with
reference to complete information and bargaining.
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(b) What are the concerns raised by Surajit Das

regarding the goods and services tax?
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(a) Discuss the determination of optimal provision of

public good and the assignment of tax shares in
the context of Lindahl — Johansen model. (8)

(b) There is a large number of commuters who decide

to use either their car or the train. Assume that
commuting by train takes 70 minutes whatever
the number of commuters taking the train.
Commuting time by car C(x) = 20 + 60x, where
x is the proportion of commuters taking their car,

(7

g <1,

(i) What is the proportion of commuters who
will take their car if everyone is taking her
decision freely and independently so as to

minimize her own commuting time?
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(i) What is the proportion of car users that
minimizes the total commuting time?

(iii) Compare your answer of ii with answer in
part i above. Interpret the difference. How
large is the deadweight loss from the
externality?
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4.

(a) How the budget setting process and corruption

are the source of the excessive public sector

expenditure? (8)

(b) Analyze the effect of earned income tax credit on
hours worked and labour force participation for

low income individuals. (7
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(a) Critically examine the solution of externality when
both economic participants generate positive

production externality. (7)

(b) Derive the equilibrium in probabilities of evasion

and audit in the ‘tax compliance game’. (8)
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6.

(a) How probability of detection and fine rate effects

the tax evasion decision of individuals? (10)

(b) Explain matching open-ended and matching closed-
ended intergovernmental grants. (%)
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(a) Describe the organization of multilevel Fiscal
system in India. Briefly discuss the Tax and
Expenditure assignments and intergovernmental
transfers in India. (8)

(b) Explain the concept of deadweight loss of tax and
show the deadweight loss on both producer and
consumer in the case of product tax. @)
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